7

Best Master Furniture

ITEM:B1920-CK/EK

PART LIST HARDWARE LIST
A Headboard ﬂﬂﬂﬂ 1PC 1 Bolt @5/16"x2" ol '0 6PCS
B Footboard N 9 | Bolt @5/16x1-3/16"| @M | jopcs
C | Right Ear Panel e 3 | Bolt @1/4"x2-1/4" 16PCS
D | Left Ear Panel | g [Serev Wi x 1-3/16" | @@ | e
E Legs @ 6PCS 5 | Lock Washer @5/16" | & 18PCS
F Right Side rail 1PC 6 Flat Washer @5/16" @ 18PCS
G | Left Side rail 1PC 7 | Lock Washer @1/4” S 16PCS
H Center Rail \ 2PCS g | Flat Washer @1/4" @ 16PCS
I |Slats Whit Hole / 4PCS g Allen Wrench M4 ﬂﬂ IPC
] Slats / 8PCS
< ”’:“; °
enter Rai aPCs !
: gup;m‘l,ﬁ l ‘ﬁﬁ I 7 ”""’":.::‘2
_ <5 ""f"l"""' ‘*l
L, Slat Support 8PCS ’ ([} [N N ‘ “4
Loxt ?"0,""0“‘ bl N
r"f’"‘ﬁ
W 7
; / o
o—t I

Page 1 of 2

www.bestmasterfurnitures.com




Page 2 of 2

www.bestmasterfurnitures.com




